

### 220

# icm®

#### References

- E. M. Alfsen, Compact convex sets and boundary integrals, Springer-Verlag, Berlin 1971.
- [2] E. M. Alfsen-E. G. Effros, Structure in real Banach spaces II, Ann. of Math. 96 (1972), pp. 129-173.
- [3] E. Behrends, On the Banach-Stone theorem, Math. Ann. 233 (1978), pp. 261-272.
- [4] E. Behrends-U. Schmidt-Bichler, M-structure and the Banach-Stone theorem. Studia Math. 69 (1979), pp. 33-40.
- [5] E. Behrends, The centralizer of tensor products of Banach spaces, Pacific J. Math. 81 (1979), pp. 291-301.
- [6] Elementary proofs of some fundamental theorems in M-structure theory, (submitted).
- [7] F. Cunningham, M-structure in Banach spaces, Proc. Cambridge Philos. Soc. 63 (1967), pp. 613-629.
- [8] F. Cunningham-N. Roy, Extreme functionals on an upper semicontinuous function space, Proc. Amer. Math. Soc. 42 (1974), pp. 461-465.
- [9] Choo whan Kim, Extreme contraction operators on l<sup>∞</sup>, Math. Z. 151 (1976), pp. 101-110.
- [10] N. Roy, Contractive projections in square Banach spaces, Proc. Amer. Math. Soc. 59 (1976), pp. 291-296.

I. MATHEMATISCHES INSTITUT DER FREIEN UNIVERSITÄT Arnimallee 2-6, D 1000 BERLIN 33

Received December 27, 1978

(1498)

## STUDIA MATHEMATICA, T. LXX. (1982)

An approximation problem in  $L^p([0, 2\pi])$ , 2

by

DANIEL M. OBERLIN\* (Tallahassee, Fla.)

**Abstract.** We treat the remaining case (2 of an approximation problem earlier considered by Kahane and Rider.

For  $n\in Z$ , let  $e_n(x)$  be the exponential  $e^{inx}$ , and for  $f\in L^1([0\,,2\pi])$  define the Fourier coefficient  $\hat{f}(n)$  to be  $(2\pi)^{-1}\int\limits_0^{2\pi}f(x)e_{-n}(x)\,dx$ . Then the Fourier series of f is  $\sum\limits_{n=-\infty}^{\infty}\hat{f}(n)e_n$ .

We consider the following question. If  $f \in L^p$  (=  $L^p([0, 2\pi])$ ), is f the limit in the  $L^p$  norm of trigonometric polynomials q such that  $\hat{q}(n) = \hat{q}(m)$  whenever  $\hat{f}(n) = \hat{f}(m)$ ? For p = 1 a negative answer follows from results of Kahane [2], while a construction of Rider [4] gives the negative answer for 1 . For <math>p = 2 the question is of course trivial. The purpose of this note is to give a negative answer for  $2 . Our method follows the broad outline of that of Kahane, but the details are quite different. We mention that this problem is closely related to a question about closed convolution subalgebras of <math>L^p$ —see [5], [2], [4], [1].

THEOREM. Fix p with  $2 . There exists a collection <math>\{E_j\}_{j=1}^{\infty}$  of pairwise disjoint finite subsets of Z and a function  $f \in L^p$  such that  $\hat{f}$  is constant on each  $E_j$ ,  $\hat{f} = 0$  off of  $\bigcup_{j=1}^{\infty} E_j$ , and such that f is not approximable in  $L^p$  by polynomials of the form  $\sum_i b_i \sum_{n \in P} e_n$ .

Proof. In the following,  $\theta$  will denote a positive constant independent of k but which may increase from line to line. Let r be an even integer such that

$$r(1/2-1/p) > 1$$
.

Let  $n_0 = 0$ ,  $m_0 = 1$ ,  $n_k = (k!)^r$ ,  $m_k = (k+2)^{r/2} n_k$  (k = 1, 2, ...). Let  $p_0 = 0$  and let  $\{p_k\}_{k=1}^{\infty}$  be a sequence of positive integers which increases

<sup>\*</sup> Partially supported by NSF Grant MCS 76-02267-A01.

223

so rapidly that there exist trigonometric polynomials  $f_k^1, f_k^2$  (k = 1, 2, ...) satisfying

We can also assume  $p_k \ge 2p_{k-1}$ , k = 1, 2, ...

Let  $E_1^{**} = \{1\}$ . For  $k \geqslant 1$  we will find disjoint subsets  $E_k^*$  and  $E_{k+1}^{**}$  of  $\{p_k+1,\ldots,p_k+n_k+m_k\}$  such that (2)-(4) below will hold.

$$(2) \quad \text{ If } I_k^* = \sum_{n \in E_k^*} e_n, \ I_k^{**} = \sum_{n \in E_k^{**}} e_n, \ \text{then } \sum_{k=1}^{\infty} \frac{\|I_k^{**}\|_p}{\|I_k^*\|_p} < \infty.$$

(3) There exists a sequence  $\{a_k\}_{k=1}^{\infty}$  of positive numbers such that the series  $\sum_{k=1}^{\infty} (-1)^k a_k (I_k^{**} + I_k^*) \doteq \sum_{k=1}^{\infty} (-1)^k a_k I_k$  is the Fourier series of an  $L^p$  function f.

$$\frac{1}{\|I_k^*\|_p} = o(a_k).$$

Let us now establish

(5) If 
$$q = \sum_{k=1}^{K} b_k I_k$$
, then  $|b_k| \leqslant \frac{C ||q||_p}{||I_k^*||_p}$ .

With (4) this will show that no sequence of such q's can approximate f in  $L^p$ .

By (1),  $f_K^2*q=b_KI_K^*, f_K^**q=q-b_KI_K^*$ . Since  $\|f_K^j\|_1\leqslant 1+1/K^2$ , it follows that

$$\begin{split} |b_k| \ \|I_K^*\|_p &\leqslant (1+1/K^2) \ \|q\|_p, \\ \|q-b_K I_K^*\|_p &\leqslant (1+1/K^2) \ \|q\|_p. \end{split}$$

The first of these gives  $\|b_K I_K^{**}\|_p \leqslant (1+1/K^2) \frac{\|I_K^{**}\|_p}{\|I_K^{**}\|_p} \|q\|_p$ , which combines with the second to give

$$\Big\| \sum_{k=1}^{K-1} b_k I_k \Big\|_p = \|q - b_k I_k\|_p \leqslant (1 + 1/K^2) \Big( 1 + \frac{\|I_K^{**}\|_p}{\|I_K^{**}\|_p} \Big) \|q\|_p.$$

Iterating this process, we get  $(1 \le k \le K-1)$ 

$$|b_k| \ \|I_k^*\|_p \leqslant \prod_{l=k}^K \ (1+1/l^2) \prod_{l=k+1}^K \left(1+\frac{\|I_l^{**}\|_p}{\|I_l^*\|_p}\right) \|q\|_p \,.$$

With (2), this gives (5). Thus it remains to find the sequences  $\{a_k\}$ ,  $\{E_k^*\}$  which satisfy (2)-(4).

Let  $a_k = n_{k+1}^{-1/2} = [(k+1)!]^{-r/2}$ . We will choose disjoint subsets  $E_k^*$ ,  $E_{k+1}^{**}$  of  $\{p_k+1, \ldots, p_k+n_k+m_k\}$  with  $|E_{k+1}^{**}| = m_k$  and  $|E_k^*| = n_k$  such that

(6) 
$$C^{-1}n_k(m_k + n_k)^{-1/p} \leqslant ||I_k^*||_p,$$

(7) 
$$\|a_k I_k^* - a_{k+1} I_{k+1}^{**}\|_p \leqslant C (a_k^2 n_k + a_{k+1}^2 m_k)^{1/2}$$

Since  $|E_k^{**}| = m_{k-1}$ , we have  $|I_k^{**}|_p \leqslant m_{k-1}^{1-1/p}$  by the 'Hausdorff-Young theorem. Since r(1/2-1/p)>1, (2) is a consequence of (6), while (4) follows from (6) and the definition of  $a_k$ . Statement (3) follows from (7) since  $r\geqslant 4$  implies that  $\sum\limits_{k=1}^{\infty} (a_k^2 n_k + a_{k+1}^2 m_k)^{1/2} < \infty$ . Thus it remains to establish (6) and (7). Since  $n_k a_k = m_k a_{k+1}$ , these follow from the proposition below.

PROPOSITION. Suppose 2 . Let <math>n, m be positive integers and let a, b be positive numbers such that na = mb. Then there exists a partition of the set  $\{1, 2, ..., n+m\}$  into two sets E and F with |E| = n, |F| = m such that

(i) 
$$\|\sum_{j}e_{j}\|_{p} \geqslant A_{p}^{-1}n(n+m)^{-1/p}$$
,

(ii) 
$$\|\sum_{j\in E} ae_j - \sum_{j\in F} be_j\|_p \leqslant A_p (na^2 + mb^2)^{1/2}$$
.

Here  $A_p$  depends only on p.

The proof of the proposition depends on two lemmas.

LEMMA 1. For  $1 , there is a positive constant <math>B_p$  (depending only on p) such that for any positive integers n, m and any choice of numbers  $c_i$ ,  $1 \le j \le n + m$ ,

$$\left\|B_{p}^{-1}\right\|\sum_{1}^{n+m}e_{j}e_{j}\Big\|_{p}\leqslant\left[rac{1}{n+m}\sum_{l=1}^{n+m}\Big|\sum_{j=1}^{n+m}e_{j}e^{2\pi ijl/(n+m)}\Big|^{p}\Big]^{1/p}\leqslant B_{p}\left\|\sum_{1}^{n+m}e_{j}e_{j}\Big\|_{p}.$$

(See Theorem 7.10, p. 30 of [6].)

LEMMA 2. For  $1 , there is a positive constant <math>C_p$  such that the following holds. Fix positive integers n, m and numbers  $c_j$ ,  $1 \le j \le n + m$ ,

icm®

such that  $\sum_{i=0}^{n+m} c_i = 0$ . Let S be the symmetric group on  $\{1, \ldots, n+m\}$ . Then

$$\frac{1}{|\mathcal{S}|}\sum_{\sigma\in\mathcal{S}}\Big\|\sum_{1}^{n+m}c_{\sigma(j)}e_j\,\Big\|_p^p\leqslant C_p^p\Big(\sum_{1}^{n+m}|c_j|^2\Big)^{p/2}\,.$$

(This is a consequence of Lemma 1 above and Lemma 2, p. 261 of [3].)

The proof of the proposition is now easy. Let  $c_1=\ldots=c_n=a,$   $c_{n+1}=\ldots=c_{n+m}=-b.$  Then it follows from Lemma 2 that there exists  $\sigma\in S$  such that

$$\Big\| \sum_{1}^{n+m} c_{\sigma(j)} e_j \Big\|_p \leqslant C_p (na^2 + mb^2)^{1|2}.$$

Let  $E = \{j: 1 \le \sigma(j) \le n\}$ ,  $F = \{j: n+1 \le \sigma(j) \le n+m\}$ . Then (ii) of the proposition holds. Statement (i) of the proposition is an immediate consequence of Lemma 1.

Added in proof. The theorem of this paper can also be found in the work of G. Bachelis and J. Gilbert, *Banach algebras with Rider subalgebras*, Bull. Inst. Math. Acad. Sinica 7 (1979), pp. 333-347.

#### References

- G. Bachelis and B. Barnes, Closed subalgebras of group algebras of a compact group, Symposia Math. 22 (1977), pp. 249-265.
- [2] J.-P. Kahane, Idempotents and closed subalgebras of A(Z), in: Function algebras, Scott Foresman, Chicago 1966, pp. 198-207.
- [3] D. Oberlin, Random rearrangements of Fourier coefficients, Ann. of Math. 106 (1977), pp. 259-268.
- [4] D. Rider, Closed subalgebras of L<sup>1</sup>(T), Duke Math. J. 36 (1969), pp. 105-115.
- 5] W. Rudin, Fourier analysis on groups, Interscience, New York 1962.
- [6] A. Zygmund, Trigonometric series, Vol. II, Cambridge University Press, Cambridge, England 1959.

THE FLORIDA STATE UNIVERSITY TALLAHASSEE, FLORIDA 32306

Received February 15, 1979 (1515)

## Identity of Taylor's joint spectrum and Dash's joint spectrum

by

## MUNEO CHO and MAKOTO TAKAGUCHI (Hirosaki)

Abstract. In this note we show that Dash's joint spectrum coincides with Taylor's joint spectrum in the case of normal operators, and operators on a finite-dimensional Hilbert space.

1. Since the concept of joint spectrum for a family of operators was first introduced by R. Arens and A. P. Calderón [1], some authors have asserted its definition and properties. The typical and successful definitions among them have been carried out by J. L. Taylor [7] and A. T. Dash [4].

Throughout this note, let H be a complex Hilbert space and B(H) be the algebra of all continuous linear operators on H. Let  $A = (A_1, \ldots, A_n) \subset B(H)$  be an n-tuple of commuting operators, and A', A'' be commutant, double commutant algebra of the set  $\{A_1, \ldots, A_n\}$  in B(H), respectively.

Now, let  $\{e_1, \ldots, e_n\}$  be a set of indeterminates and denote by  $E^n$  the exterior algebra, over the complex field C, with the generators  $e_1, \ldots, e_n$ .  $E_p^n$  will stand for the space of elements of degree p in  $E^n(p=1,\ldots,n)$ . Then we denote by  $E_p^n(H)$  the tensor product  $H \otimes E_p^n$ . An element  $x \otimes e_{j_1} \wedge \ldots \wedge e_{j_p} \in E_p^n(H)$  will be written simply  $x e_{i_1} \wedge \ldots \wedge e_{j_p}$ . The space  $E_p^n(H)$  can be endowed with a natural structure of a Hilbert space.

We define the map  $\delta^p_{\mathcal{A}}: E^n_p(H) \to E^n_{p-1}(H)$  such that

$$\delta_{\mathcal{A}}^{p}(y) = \sum_{i=1}^{p} (-1)^{i-1} A_{j_{i}} x e_{j_{1}} \wedge \ldots \wedge e_{j_{p}}$$

for  $y=xe_{j_1}\wedge\ldots\wedge e_{j_p}\in E_p^n(H)$ , where the symbol means that the corresponding letter is omitted. For convenience, we put  $\delta_A^0=\delta_A^{n+1}=0$ . Then we see that every  $\delta_A^p$  is a continuous linear map and  $\delta_A^p\circ\delta_A^{p+1}=0$ . Thus, we get the sequence

$$0 \xrightarrow{\overset{\delta_{\mathcal{A}}^{n+1}}{\longrightarrow}} E_n^n(H) \xrightarrow{\overset{\delta_{\mathcal{A}}^n}{\longrightarrow}} E_{n-1}^n(H) \xrightarrow{\overset{\delta_{\mathcal{A}}^{n-1}}{\longrightarrow}} \dots \xrightarrow{\overset{\delta_{\mathcal{A}}^n}{\longrightarrow}} E_1^n(H) \xrightarrow{\overset{\delta_{\mathcal{A}}^1}{\longrightarrow}} E_0^n(H) \xrightarrow{\overset{\delta_{\mathcal{A}}^0}{\longrightarrow}} 0$$